
COMPLEX ANALYSIS MATH 220A

Midterm Sample Exam

Problem 1.

Find the largest disk centered at 1 in which the Taylor series for
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will converge.

Problem 2.

Evaluate ∫ 2π
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Problem 3.

Prove that there is no entire analytic function such that
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{
z ∈ C : f (n)(z) = 0

}
= R.

Problem 4.

TRUE or FALSE? There is no entire function f such that for some real constants C1, C2 > 0
and all z ∈ C
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Prove or give a counterexample.

Problem 5.

Find the radius of convergence R1 of the series
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and show the series converges uniformly on D(0, R1). What is the radius of convergence
R2 of the derivative of this series? Does it converge uniformly on D(0, R2)?


